Money

Kieran has 9c. What can he buy?
Colour in “Yes' or ‘No’ to show whether he has enough money.

Item Price Item Price
luggage bag 7c towel L
pillow 2C rce cream 6¢c
cone
swimming :
trunks 3¢ muffin 2¢
travel book 2cC sun cream 4c
= Yes No
— Yes No
— Yes No
= Yes No
- |2 = Yes No
-
H + = Yes No
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Where in the World Shall We Go?

Money

Niamh has 11c. What can she buy?
Colour in “Yes' or ‘No’ to show whether she has enough moneuy.

Item Price Item Price
headphones 1c fruit juice @ 4e
travel hat 4e lollipop T 4e

water .

bottle 2c flip-flops 6¢
sun cream 3c newspaper 5¢
= Yes No

= Yes No

= Yes No

= Yes No

= Yes No

= Yes No
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Money Answers

Kieran has 9c. What can he buy?
Colour in “Yes' or ‘No’ to show whether he has enough money.

Item Price Item Price
luggage bag 7c towel b4e
pillow 2c ee cream 6¢
cone
swimming :
trunks 3c muffin 2c
travel book ' @f 2cC sun cream 4e
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Where in the World Shall We Go?

Money Answers

Niamh has 11c. What can she buy?
Colour in ‘Yes' or ‘No’ to show whether she has enough money.

Item Price Item Price

headphones @ 1c fruit juice @ 4e

travel hat 4e lollipop T 4e
water .
bottle 2c flip-flops @@ 6¢
sun cream 3c newspaper
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